V-COIL

THREAD INSERT SYSTEM & B B

Herramientas Rompe Arrastre

Quebra-pino
No. Meétrica UNC / UNF Art.No.
Métrico BSW / BSF
2 M 2x04 M2.2x0.45 UNC No. 2 07002
3 M2.5x0.45 07003
4 M 3x0.5 UNC/UNF No. 4 07004
5 M 3.5 x 0.6 UNC/UNF No. 6 07005
UNC No. 10
6 M 4x0.7 UNC/UNF No. 8 BSF 3/16 07006
UNF No. 10
8 M 5x0.8 UNC No.12 BSW 3/16 07008
9 M 6x1.0 UNC/UNF 1/4 BSW/BSF 1/4 07009
M 7x1.0 UNC/UNF 5/16
11 M 8x1.0 M8 x 1.25 BSW/BSF 5/16 07011
12 M 9x1.0 M9 x1.25 UNC 3/8 BSW/BSF 3/8 07012
M 10x 1.5
13 M 10x 1.0 M 10x 1.25 UNF 3/8 07013
14 M 11x1.5 M11x1.25 UNC/UNF 7/16 BSW/BSF 7/16 07014
M 12x1.75 M12x1.5 UNC/UNF 1/2
15 M12x125 M12x1.0 BSW/BSF 1/2 07015
V-COIL rapid
3 M 2,5 x 0.45 1/4" O 07090
4 M 3x0.5 1/4" O 07091
6 M 4x0.7 1/4" O 07092
8 M 5x0.8 1/4" O 07093
9 M 6x1.0 1/4" O 07094
11 M 8x1.25 1/4" O 07095
13 M 10x 1.5 1/4" O 07096
15 M 12 x1.75 1/4" O 07097
Herramientas Extractoras
Extrator
No. Métrica pulgada Art.-No.
Métrico polegada
2 M 3-M10 3/16 - 3/8 07052
3 M 11-M24 3/8-1" 07053

46



